AEERRX 6 S (AR
nEkH £ A H

HLE IFERE

X2 N AN B T B #H T F

1EF % & 5 TKHE3-35

2 18 Al IKIE RS

3% E S % BRKEMREIE

415 i BR™ BATIHET3TH #A

5R M X & A Bt A=RUOTITEMR

6 ¥ AT ZARTMAIMEET4T B82—1
TEFRRDRNEEE 65,187,100 M

(B8 ( 63,360,000 [ )
8 T HA SH4%E6815H8 ~ SH5%2824H

(&% 1 T #20) ( %F4%E6815H ~  Si4FE12RA168 )

9 #§ = HPPE ¢ 150 #f15% T L=564.3m({£10,252)
HPPE ¢ 100 #7558 T L= 45.6m(1£2)
HPPE ¢ 75% %L L=280.5m({t3)
HPPE ¢ 50E kT L=239.9m({t2)
WKEBYIBT  N=95&FT
HAKRERET N= 4E&FR
10 EENBERVEFRER
TEOEBYEETDHLND,
- ERURIEORERE.
HPPE ¢ 150 L=561.3m — L=564.3m
HPPE ¢ 100 L=500m — L=456m
HPPE¢® 75 L=284.7m — L=280.5m
HPPE ¢ 50 L=237.3m {1 — L=2149m {t2 &9 5%,
HIEOKR. T7/N\YIIEKIABELHERINS-H BT T 510,
IF7/\yT1EKIT (VP 150) N=0x — N=1=x



